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SECTION A _ (50 marks)

1. Answer any SIX of the following :      (6 B 5 = 30)

(a) Fill     in     the     blanks     with     suitable

interrogatives given in the bracket :

D ÒÜ ( mà (] Ú^ ( Újo ( ÖÛà E

Î¡Ý]ÖÛ‚…Œ[ ] _____ (i)

‘‚mÏ^ÖÔm^ÚvÛ‚[ _____ (ii)

a„]á]Ö‚Êj†]á[ _____ (iii)

ƒagÂÛÔ]ÖoÚ‚…]Œ ____ (iv)

m^#Úßè[

‰ÛÔôm^‰nù‚io[ ] ____ (v)



(b) Fill     in     the     blanks     with     suitable

pronouns given in the bracket : 

D aÜ ( aàù Eao(

ÚŠ×Û^l! ______ (i)

ì^�Úè! ______ (ii)

›nfçá! ______ (iii)

ÚÛ†•è! ______ (iv)

Ú`ß‚‰çá! ______ (v)

(c) Fill     in     the     blanks     with     suitable

prepositions given in the bracket :

D Êo ( Úà ( Âà ( ]Öo E

ÖŠÛ^ðÚ^ð[ ] ______ ÚàmößˆÙ (i)

]Öv‚Êo]Ö_Ã^Ý! ___ Ÿijr^æ‡ (ii)
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]ÖÇ^Ê×nà! _____ ŸiÓà (iii)

]Ö�^…Å]Ö„p]Ú^Ý _____ enjß^ (iv)

]ÖÛvÓÛè!

eÇ‚]�! ____ ag ƒ (v)

(d) Fill  in  the  blanks  with  Past  tense verbs

given in the bracket :

D ag(Î†œ(Þ¿† ƒ ( ÖÛÄ ( ÞˆÙ E

]Öo]ÖÏ^a†é! ______ (i)

ÊoÒj^hÚËn‚! ______ (ii)

Öf†Ñ! ] _______ (iii)

]ÖÛ_†! _____ (iv)

]ÖÛÃ×ùÜ! _____ (v)
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(e) Fill  in  the blanks with suitable possessive

nouns :

ÖŠn^…é[ ] ____ ÿmà ] (i)

Þ^ÊoÚ‚mßèin†æ�o! _____ (ii)

Ò†é _____ m×Ãg]Ö_¡hÊo (iii)

]ÖÏ‚Ý!

a^ufØÚàÚŠ‚! ____ Êo (iv)

Ö×#ä! ] ______ q^ð (v)

(f) Fill in the blanks with suitable predicates :

!______ aç (i)

!______ ]ÖßrçÝ (ii)

!______ ]Öf^h (iii)
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!_______ ƒÖÔ (iv)

!_______ ]‰Ûo (v)

(g) Give the plural of the following :

›fng (ii) enk (i)

Î×Ü (iv) …qØ (iii)

æÖ‚ (v)

(h) Give opposite gender of the following :

›^Öf^l (ii) ÿï] (i)

æ]Ö‚é (iv) ›fnfè (iii)

Ú‚m†é (v)
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(i) Fill in the blanks with suitable adjectives :

!_____ a„åÂr×è (i)

!_____ Êoa„]]ÖfnkÆ†Êj^á (ii)

!_______ Ê^›ÛèÖã^›Ë¡á (iii)

!_______ a„]Î×Ü (iv)

!_____ eÇ‚]�Ú‚mßè (v)

2. Translate the following into English :

      (10 B 1 = 10)

Öoœìk! (a)

a„åÂr×èq‚m‚é! (b)

aç›fng! (c)
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]mà‰^ñÐ]ÖŠn^…é! (d)

m×Ãg]Ö_¡h! (e)

! ]ÖßrçÝqÛn×è (f)

‰Ûo]e†]anÜ! ] (g)

a„å]ÖŠ^ÂèÚà]Ön^e^á! (h)

a„]›^Ög! (i)

aÛ^Ö×Ë¡|! (j)

3. Translate the following into Arabic :

      (10 B 1 = 10)

(a) This is a pen.

(b) There are two keys.

(c) He is an engineer.

(d) I went to Cairo.
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(e) There are two mosques in my village.

(f) I have a note book.

(g) My father is a merchant.

(h) This is Ali's watch.

(i) This is a cock.

(j) The sun is in the sky.

SECTION B _ (50 marks)

4. Explain any  FIVE of  the  following  with  Three

suitable examples for each : (5 B 6 = 30)

q†ù]Ÿ‰Ü (a)

áæ]ìç]iã^ ā (b)

ÊÄ]ÖÛ–^…Å … (c)

]ÖËÃØ]ÖÛ^•o (d)

ÖrÛ×è]Ÿ‰Ûnè ] (e)
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ÖÛËÃçÙeä ] (f)

ÖÛfj‚œæ]Öíf† ] (g)

]ÖÛç]‡Þèenà]ÖË^ÂØæ]ÖÛËÃçÙeä (h)

Þ’g]ÖËÃØ]ÖÛ–^…Å (i)

]Ö–Û^ñ†]ÖÛj’×è (j)

5. Rewrite  any  FIVE  of  the  following  sentences

changing  the  tense  of  the following verbs form

ÊÃØ]ÖÛ^•o  into ÊÃØ]ŸÚ†  and put diacritical

marks u†Ò^l  : (5 B 2 = 10)

Êjx]Öf^h! (a)

�ìØenk]Ö×#ä! (b)
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œÒØ]Ö‚q^t! (c)

u†Œ]ÖÛß^‡Ù! (d)

ÖÃgÊo]ÖÛ^ð! (e)

ar†]ÖÓ„h! (f)

Öf‹]ÖÏÛn“! (g)

q×‹ÊoÚr†p]Ö`ç]ð! (h)

uËÀ]Ö‚…æŒ! (i)

‡…ÅÞí¡! (j)
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6. Write  FIVE  sentences  using  any  FIVE  of the

following as ]ÖÛËÃçÙeä  : (5 B 2 = 10)

]Öf^h (b) ]Î¡Ý (a)

]Ö‚…æŒ (d) ]Ö‚q^t (c)

]ÖjË^| (f) …‰^Öè (e)

]Ön‚ (h) ]ÖÏ¼ (g)

]ÖfŠj^á! (j) ]Örßè (i)

_____________
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